
i )  v id e  *4 , a , b, d , g 
8) v ide * 4 , a, b, c , d , g



E q u i v a l e n t s

e r  0,25/1500 C C C P  =  rp  1-0,25/1,5 5 B X  2 C C C P =  5 Y  3-G 88 amer _ 80
B r  8 C C C P  =  rp  1-0,25/1,5 5 Y 3 C C C C P =  5 Y  3-G 113 amer = 80
C X  313 amer =  5 Y  3-G 5 Y  3-GA amer =  5 Y  3-G 113 B amer = 80
D 1 amer =  5 Y  3-G 5 Y  3-GT int =  5 Y  3-G 180 amer = 80
E X  680 amer =  80 5 Y  3 -W G T A 1) amer =  5 Y 3 -W G T 213 amer = 80
G 80 amer =  80 5 Y  3 -W G T B 1) amer =  5 Y 3 -W G T 213 B amer = 80
G Z  30 Mul =  5 Z  4 5 Y  4-G A amer =  5 Y  4-G 268 amer = 80 S
r A  0,25/1,5 C C C P  =  TP 1-0,25/1,5 5 Y  4-GT int =  5 Y  4-G 280 amer = 80
O SW  3107 RFT =  5 Z  4 5 Y  4-SG Syl =  5 Z  4 280 M amer = 80 S
R 52 Fer =  5 Y  3-G 5 Z  4 C RFT =  5 Z  4 288 amer = 80 S
R 80 amer =  80 5 Z  4-G int =  5 Z  4 313 amer : 80
RE 1 amer =  5 Y  3-G 5 Z  4-MG int =  5 Z  4 313 B amer = 80
T 80 amer =  80 5 Z  5-MG int =  5 Z  4 380 amer = 80
U X  213 amer =  80 5 U  4 C C C C P =  5 Z  4 480 amer = 80
U X  280 amer =  80 13 amer =  5 Y  3-G 580 amer = 80
U X  380 amer =  80 13 e amer =  80 583 amer = 80
WT-270 amer =  80 80/41 amer =  80 2800 amer = 80
WTT-102 amer =  5 Y  3-GT 80 A amer =  80 6087 amer = 5 Y  3-G
X V  280 amer =  80 80 M amer =  80 38080 amer = 80
5 e x  1 C C C P  =  5 Z  4
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